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LO: To divide by 10
 
870 ÷ 10 = 
69 ÷ 10 = 
3280 ÷ 10 = 
758÷ 10 = 
125 ÷ 10 = 
25.3 ÷ 10 = 
6000 ÷ 10 = 
7.8 ÷ 10 =  
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Four children are in a race. The numbers
on their vests are:

Use the clues to match each vest number
to a child.

« Jack's number is ten times smaller
than Mo's.

«  Alex's number is not ten times
smaller than Jack's or Dora's or Mo's.

« Dora's number is ten times smaller
than Jack's.
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Eva and Whitney are dividing numbers by
10 and 100

They both start with the same 4-digit
number.

They give some clues about their answer.

Af
My answer has 8 ones
Eva and 2 tens.

Whitney

My answer has 2
hundreds, 8 tens and O
ones.

What number did they both start with?
Who divided by what?
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Use the digit cards to fill in the missing
digits.

EEEEEDEE

170+10=__

_20x10=3_00
18_0+10=1_6
_9x100=5_00

6_=6400+100




